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I. Please analyze the following: (25% each)

| There is a trade war between the United States of America and China that both
countries are continually disputing tariffs placed on goods traded. Please

analyze how this may affect Taiwan’s social economy.

2. The election of the president of the National Taiwan University has a lot of
debates since 2018. Please state your thoughts on how this may influence the

development of higher education in Taiwan.

I1. Please state the full names of the following acronyms (5% each)

OECD
BREXIT
USMCA
APEC
NATO

S

I11. Please translate the following into Chinese (25%)

China’s 18" century economic path dependency can be described as one of the
“market success” because the empire enjoyed prosperity, there was little inflation or
deflation, unemployment was minimal and social grievances few. In the reticular
market economy, the number of markets increased, cleared, and were competitive.
Sometimes lineages tried to control local markets and prevent outsiders from entering.

But suppliers and buyers then expanded, and their activities undermined the power of

these monopolists to control markets for very long.




